Probability 2 Answers
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Does not grow (43) (N3)
[3 marks]
() () 04x0.9 (A1)
=0.36 (A1) (N2)
(i) 0.36+0.6x0.8 (=0.36+0.48) (41)
=0.84 (41) (N1)
iy DedDgrows) o be implied) M1I)
P (grows)
0.36
= Al
0.84 “h
=0.429 (%) (41) (N2)
[7 marks]
Total [10 marks]
2) Total number of possible outcomes = 36 (may be seen anywhere) (A1)
(a PE)=PUA,H+P(2,2)+P(3,3)+P(4,4)+P(5,5)+P(6,6)
6
=— Al 2
36 (41) (€2
(b) PF)=P(6,4)+P(5,5+P(4,6)
3
== Al 1
36 (41) (c1
(¢) P(EUF)=P(E)+P(F)-P(ENF)
1
P(ENnF)=— Al
(ENF) % (41)
6 3 1 g8 2
P(EUF)=—+—-— |=—==,0.222 M1)(Al C3
(U)36+3636(369’ j MDEAD ©
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13 12 11 10
Correct probabilities | — |, | — |, | — |, | — Al)(A1)(A]) (Al
psiies 1) (12)(11) (1) I
13 12 11 10
Multiplying | —X—Xx—x— M1
Py g(24 23 22 21) M
17160 65
P(4 girls) = = =0.0673 ‘Al Co,
(4 girls) 255024(966 ] Al (c6)
4) (a) Independent =>P(ANB)=P(4A)xP(B) (=0.3x0.8) M1)
=0.24 Al N2
(b) P(AUB)=P(A4)+P(B)-P(AnB) (=0.3+0.8-0.24) M1
=0.86 Al NI
(¢)  No, with valid reason A2 N2
eg P(ANnB)#0 or P(4uUB)#P(A4)+P(B) or correct numerical equivalent
5 ) P(P|C)=—22 Al
@) ( | ) 20+40
1 Al NI
3
30
b P(P|C')= Al
®) ( | ) 30+ 60
=l Al NI
3
(c) Investigating conditions, or some relevant calculations M)
P is independent of C, with valid reason Al N2
eg. P(P|C)=P(P|C'), P(P|C)=P(P),
20 50 60
—=—x—— (ie. P(PNC)=P(P)xP(C
150 150 150( ( )=P(P)xP( ))
6) (a)  For attempting to use the formula (P(E N F)=P(F) P(F)) M1)
Correct substitution or rearranging the formula Al
1
1 2 P(ENF) 3
g —==P(F), P(F)=—— P(F)==
€g33()() P(E) ()g
3
P(F)=l Al N2

2

(b)  For attempting to use the formula (P(EUF)=P(E)+P(F)-P(ENF)) (MI)
2 1 1

P(EUF)=Z+——— Al
32 3

= % (=0.833) Al N2
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B w

P(AUB)=P(A)+P(B)-P(ANB)
P(ANB)=P(A)+P(B)—P(AUB)
2 3 7
=—4+=——

54 8

11
=— (0.275
40 ( )

11
P(A|B):P(AmB) _ 40
P(B) 3
4
11
=— (0.367
20 ( )
46
— (=0474
97 ( )
13
— (=0.255
51 ( )
59
— (=0.608
97 ( )
19
— (=0.158
120 ( )

35-8+5+7) (=15

Probability = 15 = 3 = 1 =0.125
120 24 8

Number studying =76

Number not studying =120 — number studying =44

Probability = hal (: 1 = 0.367j
120 30
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